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Truss deflection  

Property:     Value:

                       1        2        3        4

a  [m]            1,5     2,0     1,5     2,5

h  [m]            1,5     1,5     2,0     1,5

P1 [kN]         100    120    140    180

P2 [kN]          80     100    120    140

A [cm]          10       15      20      25

E=2 x 10 MPa

Example code:  B12341 - Model [B] 

a=1,5 h=1,5 P1=140 P2=140 A=10

------------------------------------------------

List to do:

1. Support reaction

2. Values of normal forces for all 

    elements of truss

3. Deflection in X & Y direction

    of point with force P1
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